



About Our Company

We are a leading Skills Development Training provider committed to delivering innovative solutions and exceptional services to our valued customers. We strive for excellence in every aspect of our operations.

History

Founded in 1993, our company has evolved from a small startup into a recognised leader within the industry. Our journey has been defined by perseverance, strategic growth, and an unwavering commitment to customer satisfaction.









Our Mission

Our mission is to ensure that our professional services, delivered to our valued clients, are of the highest quality and standard. All our courses are outcomesbased and are continuously upgraded to ensure that the maximum amount of knowledge and skills is transferred to the learner.



Our Vision

Our vision is to be the leading provider recognised in the workplace for our value-added inputs, training, and consulting services, with the evidence of our work reflected in increased productivity, improved profitability, and a safer working environment.

Our Goals

Moderation Policy

• It is the moderation policy of TVL Training to ensure that moderations are conducted in a planned and structured manner.

Documentation Moderation

- Learner documentation will be moderated.
- Learner moderation will be conducted upon request from the client.

Assessment Policy

TVL Training will ensure that all assessments conducted on learners will:

- Be voluntary and conducted when learners are ready.
- Be fair and free from discrimination.
- Be without barriers (where possible).
- Comply with the principles of assessment.

Both formative and summative assessment types will be used. Assessments will be conducted using correct methods and instruments and will produce the correct type of evidence.

All processes will be legally compliant.

What We Do

We deliver top-notch training that promotes productivity and profitability, driving growth, efficiency, and success for our clients.







Lifting Equipment

Lift Trucks, Cranes, Driver Training, etc.

Earthmoving & Construction

Dump Trucks, Skidsteer, Tractor Loader Backhoe, etc.

Safety & Skills Training

Working at Heights, Confined Spaces, HIRA, Legal Liability, First Aid, Fire Training, etc.



Unit Standard - Lifting Equipment (TETA)

Unit Standard nr	Unit Standard Title		
242976	Operate overhead gantry cranes		
116235	Operate a pendant controlled overhead crane		
116231	Operate a cab controlled overhead crane		
242978	Operate truck-mounted cranes		
116253	Operate a truck-mounted loader crane		
116254	Operate a Mobile Crane		
242982	Operate a heavy crane		
116255	Operate a Tower Crane		
260781	Operate a Telescopic Boom Handler		
260761	Operate a reach stacker		
243272	Operate a Mobile Elevated Work Platform		
242974	Operate a Counterbalanced Lift Truck F1-F3		
260818	Operate a Counterbalanced Lift Truck F4		
242972	Operate advanced defined purpose Lift Trucks		
242981	Operate defined purpose Lift Trucks		
123259	Conveyance of Dangerous Goods by Road		
123257	Operate a rigid light vehicle		
123254	Operate a vehicle combination		
123253	Operate a rigid heavy vehicle		

Unit Standard - Skills and Safety (CETA)

Unit Standard nr	Unit Standard Title	
263247	Assist to Erect, Use and Dismantle Scaffold	
263245	Erect, Use and dismantle access Scaffold	
263205	Inspect access Scaffold	
12878	Use and Maintain Power Hand Tools on a Construction Site	
229998	Explain and perform fall arrest techniques when working on heights	
229995	Install, use and perform basic rescues from fall arrest systems and implement the fall protection plan	
229994	Assess a worksite for work at heigh and prepare a fall protection plan	
120496	Provide risk-bases primary emergency care/first aid in the workplace	
15034	Work in Confined Spaces	
12484	Perform Basic Fire Fighting	

Unit Standard - Earthmoving (CETA)

Unit standard nr	Unit standard title		
26272	Operate a Backhoe / Loader		
262735	Operate a Grader		
262805	Operate a Roller		
262790	Operate a Service Truck		
262712	Operate a Skidsteer Loader		
262729	Operate a Tracked Dozer		
262764	Operate a Watercart		
262744	Operate an Excavator		
262747	Operate a Front-end-Loader		
262731	Operate a rigid body dump truck		
262710	Operate a Scraper		
262824	Operate a side boom		
262734	Operate a Tip Truck		
262804	Operate a Tractor		
262746	Operate an articulated Dump Truck		

Unit Standard - Skills and Safety (ETDP)

Unit Standard nr	Unit Standard Title
115357	Assessor Course
117871	Facilitate Learning using a variety of given methodologies



Other – Safety & Skills

SAFETY AND SKILLS

Advance Safe Lifting Practices, Module 1 and 2 and Basic Rigging and Slinging

2 & Post Vehicle Lift

Fire Teams, Kitchen Fires (lodges & Guesthouses)

Brush Cutter & Chainsaws, Lawn Mowers, Ride on lawn mower, Herbicide and Pesticide

Evacuation Drill

Hand and Portable Electrical Tool Safety

Handling of Hazardous Substances

Hazard Identification and Risk Assessment - HIRA (General workers and Management/Supervisors)

Health and Safety Representatives

Housekeeping for guesthouses, B&B, Lodges

Hygiene for Food Handlers

Incident Accident Investigation and Reporting

Legal Liability / Legal Compliance

Mining Training: LHD | Utility Vehicles (UV), ect.

Mortar Mixer | Brick Cutter | Power Float | Concrete Cutter

OHS and Mines Act

Stacking and Packing

Supervisor Course

Winch Rollback Truck Training

Our Office Team

NAME	POSITION	TELEPHONE	EMAIL
Annelize Snyman	Commercial Director	+27 82 334 2041	annelize@tvltnw.co.za
Jaques Snyman	Operations Director	+27 83 381 3759	jaques@tvltnw.co.za
Ruhan Pietersen	Sales Manager	+27 79 522 7914	<u>ruhan@tvltnw.co.za</u>
Jacoline Habig	Ops Assistant	+27 14 592 8301	data.admin@tvltnw.co.za
Bonolo Motswaedi	Sales Assistant	+27 14 592 8301	sales@tvltnw.co.za
Conny Matlapeng	Data Capturer	+27 14 592 8301	adminrtb@tvltnw.co.za
Ankia Schutte	Debtor Clerk	+27 14 592 8301	accounts@tvltnw.co.za
Danel Nortje	Receptionist	+27 14 592 8301	receptionnw@tvltnw.co.za



